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Calculus Test: 4.1 to 5.1. No Calculator 9
2
Part I: Multiple Choice
A 1. Find the location and value of all relative extrema of the graph < -z 2
shown at right. -2
(A) Relative maximum of 3 at —2; Relative minimum of 0 at 2
(B) Relative maximum of 3 at —2. (C) Relative minimum of 0 at 2
(D) Relative maximum of —2 at 3; Relative minimum of 2 at 0. (E) None
2. The critical values of f(x)=xe ™ are: £'- ¢ -xe=o, ’l—)‘Q;)f);o
Ay x=-1 @B)x=1 () x=1,x=-1 (D)x=0 x=1 (E)No critical values
E 3. Find the global max and min of f(x)=x 3 _3x+1 on the interval [0,2] Fo3i-se O/axl %‘/( o
(A) Global max at x =0; Global min at x =1 (B) Global max at x =2 ; Global mjln at x=0
(C) Global max at x=2, x=-1; Global min at x=1 (D) Global max at x =1; Global min at x =1
(E) Global max at x=2; Global minat x=1 £/v)71, P(’L)— 3, -F(n),\l— =l
mi
A _ —3x ’ o2~ .
4. Iff(x)—ln(x+4+e ),thenf( )= \C_ X”h}x Ffb)’—'—
2 1 .
A) —= B) - C) — D) — E) nonexistent
(A) 5 (B) s ( ) p ( ) 5 (E)
A 5. Whatis the slope of the line tangent to the curve y = arctan(4x) at the point at which x = % ?

'-L (T -
(A)2 (B)% ©)0 (D) —% €) -2 T+, ) i =2

® 6. Whatis the slope of the line tangent to the curve 3y —2x% = 6—2xy at the point (3,2)?

(_—
5 byy-t= —zj-lkyg ﬁ

4 7 6
(A)0 B) 3 ©3 (D) = E) 3 j2g-n2= -ty

© 7. Let f be the function defined by f(x)=x+x. If g(x)=""(x) and g(2)=1, whatis the

value of g’(2)? 6'(@:';"(7,‘;,;3’5;/
1 1 7
A) — B) — C) — D)4 E) 13
( )13 ( )4 ( )4 (D) (E)

K 8. If f(x)=x+2x, then —[f Inx)]= WM (MHK&XJ

K bi2bx T 2l
% < x
(A) 2Inx+2 (B) Ixlnx+2 (C) 2Inx+2 (D) 21nx+2 (E) 2x+2
— X X

E 9. 1f y=x"sin(2x) , then D _ y'> 2asindxt ZX CosTx
Y
dx 2% (sinZx + x ess2%)

(A) 2xcos(2x)  (B) 4xcos(2x) () 2x[sin(2x)+cos(2x)]
(D) 2x[sin(2x)—xcos(2x)]  (E) 2x[sin(2x)+xcos(2x)]



Part II: AB Free Response:

10. (1992 AB4/BC1) Consider the curve defined by the equation y+cosy=x+1for 0< y<2rx

(a) Find & in terms of y.
dx

(b) Write an equation for each vertical tangent to the curve
2

(c) Find ay in terms of y.
dx?
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